C:# Multiplication of Rational Numbers with Commutative Property  Name:

Solve each problem.

1 1 1
) Ax /ox4x-/5%21

3 1 3
) axVgx21x-yx 15

5 1
) /5% 6x4

7)

\w

3
5x-/5x21x /7%10

9 1
) /5%5x 15

10)

2 1 1
‘ 9x /7x9x-/3% 14

4 3 2
) /sx6x-/3x10x 2

6) 6 1
) /X Ax-/,%x21 %6

8 2
) /3% 6x6

3 1
/s x4x-/,%x15% 10

10.

Answers
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ﬂh Multiplication of Rational Numbers with Commutative Property Name:

Answer Key

Solve each problem. Answers
1 1 1 2 1 1
) 4 x /7><4x-/2><21 ‘ 9 x /7><9><-/3><14 1 -24
1 1 1 1
4x (/5% 8) x (/7% 21) 9 x (-/3%9) x (/7% 14) . 54
4x-2x%x3 9x-3x2
3 -108
a4, -48
3 1 3 4) 3 2
) 4x /5% 21x-/7%15 ) /e x6x-7/3%10x%2 5. 12
3 1 2 3
4x (-/7 % 21) x (/5% 15) (-7/3%6) x (/5% 10) x 2 o 216
4x-9x%x3 -4 x6x%2
7 -270
8. 24
5 1 6) 6 1
: /3 %x6x4 : /X Ax-/,%x21 %6 3 15
1 1 6
(/2% 4)%6 (7ox &) x (-/7%21) %6 o 180
2%X6 -2%-18% 6
7 3 3 8) 2
: 5x-/5x21x /7%10 ) /3% 6x6
3 3 2
5 x (/7 % 21) x (-/5 x 10) (/3%6)x6
5%x9x-6 4x6
9 1 10) 3 1
) /5%5x15 ) -/5x4x-/,x15% 10
1 1 3
(/5% 15) x5 (-/5% 4) x (-/5 % 15) x 10
3%x5 -2%x-9x10
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